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39- Lung cancer is............. to excessive smoking of
cigarettes.
1) acceptable 2) changeable
3) referable 4) comfortable
40- Hisfriend would not pay the bill. Hisfriend...... to
pay the bill.
1) wanted 2) offered
3) promised 4) refused
41- ‘Can you name one of theindividual sports’?
She asked me.......... | could name one of the individual
sports.
1) where 2) if 3) what 4) when
42- He......... that he would be here at ten o’ clock.
1) say 2) said 3) tell 4) told
43- The suitcase was enough light for me to lift.
1)AA 2)B B 3)c° %) D
44- Theteacher asked the student......... lesson five.
1) has she studiedr 2) if she had studied
3) that she had studied 4) that she has studied
45- The play was so........... that everybody wanted to
seeit again.
1) entertained 2) definable

3) entertaining 4) comfortable
46- What condition isthe watch in?
1) It'sa Seiko digital
2) Certainly, here you are
3) The strap is nearly worn out
4) It's automatic
47- | could have goneto Shiraz yesterday, but I.........

1) couldn't  2) won't 3) did 4)didn’t
48- Having an unnatural or ugly shape means:

1) divided 2) deformed

3) determined 4) decisive
49- Thissentence............ becauseit doesn’t haverdationship
with therest of the paragraph.

1) falls out 2) stands out

3) comes up 4) turns up
50-Any damage.......... from carelessness must be paid
by the borrower.

1) mending 2) avoiding

3) repairing 4) resulting
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